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1. BEEROI
(1) BEINE
BEXMEZERL 39 19 20
EAXRMEERL 39 19 20
E= S E 1,320,291 1,320,291
T PRI I E R B E TN 1,302,660 1,302,660
RETFEARABERE IS EZ NG 17,631 17,631
ST EE 437,585 315,482 122,103
ZEHR M E 437,585 315,482 122,103
BIESHE 191,467 315,482 A124,015
TEPRO Supporter BankZEzt 205,366 205,366
FRIRBIEHRT X 7B 40,752 40,752
BRI 1,757,915 315,501 1,442,414
(2) BEEH
- 1,651,325 105,749 1,545,576
aRFEY 189,695 33,228 156,467
EEENE 37,285 37,285
BHEEE 1,364 135 1,229
wERBEE 4,677 343 4,334
BIEERE 4,695 8,836 A4,141
HEM SR ERE 910 910
EERE 12,276 11,571 705
SEENAR B 2,662 1,246 1,416
B8 44,831 21,168 23,663
IRE&RRL 705 705
ERNEE 8,721 8,721
ZitE 1,208,804 24,518 1,184,286
TIFHE 87,241 87,241
LEETE 26,305 26,305
HE 3,974 A\3,974
BB E 21,153 730 20,423
EEE 118,067 58,792 59,275
g=Eiill 3,480 5,760 2,280
BRFY 55,676 6,143 49,533
EERME 9,209 9,209
BAEEE 868 25 843
REE 630 216 414
wERBEE 960 257 703
BEEME 1,481 3,713 A2,232
HEMSRERE 219 219
ERERE 2,957 12,089 9,132
Stk 2 1,694 932 762
EER 24,757 15,138 9,619
N ARBERL 60 60
EEika 4,800 3,040 1,760
LIRS TR S 829 829
ZitE 8,641 A\8,641
FIAF R 5,534 5,534
LEETE 3,201 3,201
P3| 2,800 2,800
B ERE 1,712 38 1,674
BEERH 1,769,391 164,541 1,604,850
SRR EISRER AN11,476 150,960 N\162,436
2. BENMEROL
(1) BEN I
BRI 0 0 0
(2) BENER
BENERG 0 0 0
SR EN ISR 0 0 0
LA — A IERRBA EE SRR A11,476 150,960 N\162,436
Il $EEIERBEER DI
SNBSS
— X ERRMEANDIREHE
L HAIE EIERRBA EE SRR 0 0 0
Il IERRBAERARTES AN11,476 150,960 N\162,436
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